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I.Fill each of the numbered blanks with one suitable word.
Construction of the world’s biggest wave-energy installation is (0)…ahead off the coast of Cornwall in southwest England. More than twenty-one million pounds’ (1)…of funding has been agreed for what is (2)…as Wave Hub, a giant electrical terminal on the seabed ten miles off the coast. Wave Hub will allow a number of different wave-energy devices operating in the area to transmit the energy they generate along a high-voltage cable undersea cable, back to the shore.
Once it is in (3)…operation. Wave Hub is (4)…to support the largest concentration of wave –energy machines anywhere in the world. It will also mark an enormous (5)…forward in the development of wave power ,which has tended to (6)…behind its cousins in the other main (7)…of renewable energy technology: wind power and solar power .

But surfers in the south have (8)…concerns about the project .Cornwall is Britain’s principal surfing region (9)…of the size of the Atlantic  rollers hitting the beaches there ,and surfers are concerned that the energy taken from those waves may (10)…in a reduction of as much as eleven percent in the height of those waves when they (11)…the shore .But an independent study reported this week that any effect on wave height will probably be much less than surfers had (12)… .
0. A going        B getting        C making        D setting

1. A amount     B value           C worth          D quantity

2. A referred    B called           C entitled       D known 

3. A whole       B full               C entire          D thorough

4. A likely        B probable       C plausible     D surely

5. A tread         B strike             C pace           D step

6. A lag            B leave              C drag           D delay
7. A limbs        B branches        C wings         D prongs 
8.A explained B spoken           C expressed   D commented

9. A because    B account          C reason        D thanks

10. A upshot    B result              C conclude   D arise

11. A arrive      B realise            C reach         D achieve

12. A scared     B worried          C frightened  D feared                       12 p
II. Complete the second sentence so that it has a similar meaning to the first sentence using the word given. Do not change the word given. You must use between two and five words ,including the word given.
1.Children under the age of ten are not allowed to use the lift.(MUST)

The lift……………………..by the children under the age of ten.

2.It is too cold for us to go sunbathing. (NOT)
It…………………………..for us to go sunbathing.

3.Coach Miller advised Bob to train harder.(WOULD)
”If………………………………train harder.

4.”Let’s go on a picnic”, said Harry. (SUGGESTED)
Jenny ………………………………on a picnic.

5.Mr. and Mrs.Smith got married in 1999. (SINCE)
Mr and Mrs Smith……………………………………  1999.

6.Mum made us sleep early on Monday.(LET)
Mum didn’t………………….late on Monday.

7.The car wasn’t fast enough so it didn’t win.(SLOW)
The car………………………………..the rally.
8.When Mary saw her teacher she immediately liked her.(TOOK)
Mary……………………soon as she saw her.
9.It was a bad idea for us to trust Rebecca  with all that money. (SHOULD)
We……………………………..Rebecca with all that money.

10.We arrived at the party so late that nearly all the guests had gone.(HARDLY)
There…………………………………….by the time we arrived at the party.

                                                                                                                     20p
III.Put the verb in brackets into the correct form.
1.Tina is not as environmentally conscious as she should;I wish she (recycle) more.

2.We all wish the authorities  (prevent) the flood before our houses were ruined.

3.Susan would rather her daughter (not/ lie) to her about doing her homework last week.

4.The citizens of New York would rather their city (not/be) so polluted.

5. June would prefer (give) money to charity rather than spend it on clothes.

6. If only we (realise) sooner that some endangered species were about to become extinct!
7. I wish you (tell) me you got fired earlier; why did you try to hide it from me?

8. Martha had better (be) more strict with her son ;he’s awfully spoiled.

                                                                                                                       8p
IV. Complete the gaps in the next text with a noun formed from the word given in brackets.The first one has been done for you.
Important social changes are taking place in the areas of (0) (MARRY) and the family. There is global (1) (REVOLVE) going on in how we think of ourselves and how we form ties and (2) (CONNECT) with others.
What most people call the traditional family was in fact a transitional phase in family (3) (DEVELOP) in the 1950s. By then the idea that romantic love was the best (4) (FOUND) for marriage as an economic contract. The family has since changed farther.

In the traditional family the married couple was only one part of the family system. Ties with children and other relatives were equally important in day –to-day (5) (EXIST) .Today the couple is at the core of what the family is. While statistically marriage is still the norm , for most people its (6) (SIGNIFY) has completely changed. Although marriage promotes the (7) (STABLE) of a  relationship by making a public declaration of (8) (COMMIT) ,it is now the equality of the couple’s relationship which is considered the most important element.
A couple has its own exclusive history. It is a unit based upon emotional communication or (9) (INTIMATE) .  Communication is both the means of establishing the tie in the first place and the basis for ensuring continuing (10) in the relationship.
(0)-marriage 

                                                                                                                            10p
V. You wish to attend a summer school abroad to study art .Write a letter applying for a place and requesting that a prospectus be sent to you. Inquire also what arrangements will be made about accommodation.(180-220 words)
                                                                                                                50p
                                                        NOTA: Toate subiectele sunt obligatorii             

                                                                     Timp de lucru:3 ore

                                                                     Nu se acorda puncte din oficiu

